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Id Track theevolution of holes along a growing sax

IÉÉTIA discrete filtration of k is a sequenceof subcomplexes
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Ineachstep weadd simplices

Adding a single sx eithercreates or fills in a hole

A filtration can be expressed as a sequence of inclusions
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Visualisation How toobtain barcode from persistent Bett numbers
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if Ldr EHp K nonzero

tddi mahescortointlp.lkverb

F taminsatuminanco
I tick

equivalentto do in defy.pe
Adding rCREATES Cr et Re Hp Kusa

r is a BIRTHSx creates homology

Exampt
I 1

Matrix reduction

Use the order of sxes given by filtration toassembly
boundary matrixMg
Reduce matrix left to right using columnreduction Foreachcolumnrepeat

Determine pivot

Subtractaprevious column withthesamepivot ifexistentelsehalf
Extractpersistence
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rowofpivot columnofsx

a representative Representative thecolumn containing the pivot
non pairedsxes arecalled essentialsees my infinitebar

they give birth to ever Itinghomology
theyareall birthsxes
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